RI2FBDFLENS He has a child who is two years old.
RIZIZAEL\FYENI He has a child whose hair is long.
RITFNRELLLEN> TV IFYXEHNLII He has a child whom | know well.

BZIR2mDNFYLENVESTH Does she have a child who is two years old?
REZIIENELFYEENLZETTA Does she have a child whose hair is long?
R SFNR LA IFEN EIA Does she have a child whom | know well?

RS R2mNFYEILL AL They don't have a child who is two years old.
RSIFENRLFYEILLRL)  They don't have a child whose hair is long.
WSIFRA KL A>T IFLEILL ALY They don't have a child whom | know well.

FENERIZI>TLIZFORIZFENTS The house which stands on the hill is mine.
EBIRATRLFORIIFLN T The house whose roof is red is mine.

HRT=HYEBEENT2ZNRIZFEN TS The house which you visited yesterday is mine.

EN TSI\ IZ0REG=0T9h |s the house which stands on the hill yours?
BAEATRL\ZORIEHX=NTFH  |s the house whose roof is red yours?
WhYEEERN =20 G079 |s the house which you visited yesterday yours?

EO I 3Z0KRIEEN T2 The house which stands on the hill isn't his.

BIEATRLVZORIFRZN T3 The house whose roof is red isn't hers.
T EEEN=ZNRHFERSH T The house which you visited yesterday isn't theirs.
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